BASYXU TR [(BFhTI)-T]

| R4 B | T8 [y i PR (o SRAREL | pr
1 AT Kt 9 |BCEH 4 5| 3| 25 4] 5 3 25
2 DX VNP | 15 |T.W. B 1 7| 5] 22 1 7| 5| 22
3 HLE it 17 [/NTILR 8| 4 200 O 8 4] 20
4 fFE R 24 |[TtipleD T 3 5 19/ 3] 5 o 19
5 it EX 34 |BCEH 3| 2| 3] 16/ 3] 2| 3| 16
6 RiE B 13 [T.w.B 2| 3| 2| 14 2 3 2 14
6 e # 15 |TtipleD T 2 4 14 2 4] o 14
8 7aJ1l BAKER 50 |[TtipleD T 1 4 2[ 13 1 4 2| 13
9 INEH EE 18 [/NTILR 6 12 0 6 0| 12
10 Ft X 3 [/NTILR 1 4 11 1 4] o 11
11 [R IE# 12 |T.W.B 4 1 9 0 4 1 9
11 i % N = N 9 |NTILR 1 3 9 1 3 of 9
13 Fifs #a%] 7 |BCEH 2 1 8| 2 1 of 8
13 KB #h 18 |[TtipleD T 4 8] o 4 o 8
15 HE 1B 17 [T.w.B 2l 2 6 o 2 2| 6
15 A $hER 13 [/1N\TX 3 6 o 3 o 6
17 HE Kt 35 |BCBH 2 1 5, 0o 2 1 5
17 % XA 66 |BCEBHR 1 1 5 1 1 0f 5
17 —t ®E 5 [/ATILR 1 1 5 1 1 0 5
17 T BEE 7 |TtipleD T 2 1 5 0 2 1 5
21 #HE 28 10 |T.W.B 2 4 0 2 0 4
21 PR BA 56 |BCEHR 4 4 o o 4 4
21 £k ZX 7 |INTILR 2 4 o 2| o 4
21 HHE 6 |[TtipleDT 2 4 o 2| o 4
25 XKHEH —t 9 [T.w.B 1 2 0 1 0 2
25 E EF 14 [T.wW.B 1 2l 0 1 o 2
25 HLE K& 16 [/NTILR 1 2| o] 1 of 2
25 HE X 51 |TtipleD T 1 2[ o] 1 of 2




